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Instructions for the Candidates

Write your roll number in the space provided on the top of
this page.
This paper consists of seventy five multiple-choice type of
questions.
At the commencement of examination, the question booklet
will be given to you. In the first 5 minutes, you are requested
to open the booklet and compulsorily examine it as below :
(1) To have access to the Question Booklet, tear off the
paper seal on the edge of this cover page. Do not accept
a booklet without sticker-seal and do not accept an open
booklet.
Tally the number of pages and number of questions
in the booklet with the information printed on the
cover page. Faulty booklets due to pages/questions
missing or duplicate or not in serial order or any
other discrepancy should be got replaced immediately
by a correct booklet from the invigilator within the
period of 5 minutes. Afterwards, neither the Question
Booklet will be replaced nor any extra time will be
given.
(iii) After this verification is over, the OMR Sheet Number

should be entered on this Test Booklet.
Each item has four alternative responses marked (A), (B), (C)
and (D). You have to darken the circle as indicated below on
the correct response against each item.
Example :
where (C) is the correct response.
Your responses to the items are to be indicated in the OMR
Sheet given inside the Booklet only. If you mark at any
place other than in the circle in the OMR Sheet, it will not be
evaluated.
Read instructions given inside carefully.
Rough Work is to be done in the end of this booklet.
If you write your Name, Roll Number, Phone Number or put
any mark on any part of the OMR Sheet, except for the space
allotted for the relevant entries, which may disclose your
identity, or use abusive language or employ any other unfair
means such as change of response by scratching or using
white fluid, you will render yourself liable to disqualification.
You have to return the test question booklet and Original
OMR Sheet to the invigilators at the end of the examination
compulsorily and must not carry it with you outside the
Examination Hall. You are, however, allowed to carry original
question booklet and duplicate copy of OMR Sheet on
conclusion of examination.
Use only Blue/Black Ball point pen.
Use of any calculator or log table etc., is prohibited.
There is no negative marks for incorrect answers.
In case of any discrepancy in the English and Hindi versions,
English version will be taken as final.
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PHYSICAL EDUCATION
Paper - 111

Note : This paper contains seventy five (75) objective type questions of two (2) marks each.

All questions are compulsory.

Library technique of research involves
(A) Statistical analysis, scanning and

scouting

(B) Statistical analysis, gleaning and
scanning

(C) Gleaning, scouting and statistical
analysis

(D) Scanning, scouting and gleaning

From the following, identify the one,
which is not included in the structures
of Basic Sports Management :

(A) Tournaments (B) Leagues

(C) Teams (D) Clubs

If height and weight of a person are
160 cm and 64 kg respectively, his
ponderal index will be

(A) 355 (B) 455

(©) 50 (D) 40

Variable that usually consists of
whole number unit is

(A) Independent variable

(B) Discrete variable

(C) Dependent variable

(D) Continuous variable

Acquisition of Motor skill mainly
depends on

(A) Coordinative ability

(B) Flexibility

(C) Speed

(D) Endurance

Constipation occurs due to

(A) Less functioning of large intestine
(B) Less intake of water

(C) More intake of water

(D) Extra eating

In 1953, the person who presented
the first project for organized sports
coaching in India is

(A) Jawaharlal Nehru

(B) Rajkumari Amrit Kaur

(C) Dr. P.M. Joseph

(D) Sir Dorabji Tata

Paper-I11

8.  Various approaches were used to
select leaders in sport based on
industry and military. Sport specific
model was first developed by
Chelladurai which is
(A) Trait approach
(B) Interactional approach
(C) Behavioural approach
(D) Multidimensional approach

9. In high altitude one can jump higher

because

(A) Air resistance is less and
muscle strength is more.

(B) Muscle strength is more and
body mass is less.

(C) Air resistance is less and body
weight is less.

(D) Body mass is less and air
resistance is less.

10. ‘X’ and ‘Y’ are pulling each other in
a tug of war. Inspite of best effort Y
is dragged by X. Work done by Y is
(A) Positive work
(B) Negative work
(C) Zero work
(D) Work due to gravity

11. From the following, identify the one,
which is not included in the steps of
the classic model of decision making.
(A) Idea generation
(B) Problem creation
(C) Agenda setting
(D) Policy making

12. Which one of the following is
correctly matched ?
(A) Determining

how well ?
(B) Determining

how much ?
(C) Determining

how good ?
(D) Deciding — Test

selection or

rejection

— Selection
— Measurement

— Evaluation
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Limitation of a research process includes

(A) age, sex and participation level
of subjects.

(B) attitude and interest of subjects,
and precision of available
instrument.

(C) age, sex and interest of subjects.

(D) attitude, participation level and
age of subjects.

Which of the following is health

related fitness component ?

(A) Reaction ability

(B) Agility

(C) Speed

(D) Muscular endurance

Motor Educability is generally defined

as

(A) Proficiency in a particular sport

(B) High level motor fitness

(C) Ability to perform fundamental
movements

(D) Ability to learn different motor
skills quickly and easily

Which of the following diseases is
categorized as Psychosomatic disease ?
(A) Small pox (B) Tuberculosis
(C) Asthma (D) Jaundice

Which one of the following abilities is
not required to make a physical
educator dynamic for the dynamic
discipline of physical education ?

(A) The ability to monopolise

(B) The ability to analyse

(C) The ability to organise

(D) The ability to supervise

Which sport was eliminated from
Olympic list during the Executive
Board Meeting of IOC at London and
has made a successful comeback for
2020 Olympic at recently held General
Body Meeting of I0C ?

(A) Baseball (B) Softball

(©) Golf (D) Wrestling

In a 400 m race the second lane
runner started with stagger distance of
7.04 m. What will be his displacement
at completion of the race ?

(A) 400 m (B) Om
(C) 7.04m (D) -7.04m
Paper-I11

20.

21.

22,

23.

24.

Select the correct choice regarding
the Neuro-transmitter that increases
the permeability at Myo-neurol
junction is known as

(A) Adrinaline

(B) Acetyl choline

(C) Ptyalin

(D) Catecholamine

Select the correct option :

Father of Naturalism is

(A) Plato (B) John Dewey
(C) Aristotle (D) Rousseau

Biological basis of physical activity
involves :

L Sex and age characteristics

II.  Growth and exercise

III.  Motor skill acquisition

IV. Transfer of training

Find the correct combination

(A) TandII (B) IIand III
(C) IMandIV (D) IVandlI

Islet of Langer Hans produces two
hormones :

L Corticoids

II.  Glucagon

III.  Gonadotrophic

IV. Insulin

Select the correct answer

(A) TandII (B) IMand IV
(C) IHIand1V (D) IVandIl
To develop cognitive ability
cognitive skills are :

L Know the difference between

feeling and action.

II. Reading and interpreting social
cues

III.  Positive
situations

IV. Regulate emotions to manage
cognitive stress

Find the correct combination :

(A) Tand1V (B) IIand III

(C) MandIV (D) MIandI

attitude to life
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Use the correct code given below :
Inspired air goes sequentially through

L Nose II. Lungs
III. Heart IV. Cells
Codes :

A Iv 1 m I
@B o 1m Iv I
<o 1 1o m 1Iv
@)y 1 Iv I 1

A physical education professional
needs self assessment of personality
factors to achieve goals

L Strength

II.  Personal relation

III. Weakness

IV. Personal stress

Find out the correct combination
from the codes given below :

Codes :
(A) I B) LI
<O IL1vV (D) III, IV

The categories of ergogenic aids are
given below :

L Methylephedrine

II. Testosterone

III. Myoglobin

IV. Glycolysis

Find the correct combination from
the codes given below :

Codes :
A) LIV (B) IL I
© LI (D) 1IL IV

Implications for techniques training
in first phase include :

L Less Corrections

II.  Practice under easier condition
III. High frequency of competition
IV. Stress on kinesthetic perception
Find the correct combination

(A) TandII (B) IIand III
(C) IHIandI1V (D) TIandIV

Use the correct code for given below :
Arrange the organs of the circulatory
system in a sequence through which
blood flows.

L Heart II. Aorta

III. Artery IV. Capillary
Codes :

(A IV I 1 I

@ 1 1o m 1v

<O© o m v I

(D) 1 1 I 1V

Paper-I11

30.

31.

32.

33.

A chi-square (%) test involves

different steps as indicated below :

L Calculation of expected frequency

II.  Calculation of observed
frequencies

IMI. Calculation of 2 value

IV. Interpretation of the results

Select the right sequence of above

steps from the code given below :

Codes :

A I 1o o 1

@) I 1 O 1

© o m v I

D) m 1v. 1 I

Following are the important
characteristics of a standardized test :
L Objectivity

II.  Reliability

II. Validity

Proper sequence of these
characteristics should be

(A) LLHandIII (B) I IIIandII
(C) IIILLTandIl (D) II,III and I

The following principles of personnel

management bring about satisfaction

among greater number of people :

L Appropriate organizational
structure

II.  Delegation of Authority

III. Cooperation / Team work

IV. Career Advancement

V. Individual differences

Find the correct combination :

A VvV I m I

@ 1 1o 1m I

© m v Iv 1

) o 1 v 1

Body composition of a person
involves components like

L Lean Body Mass

II.  Body Density

III. Fat Body Mass

IV. Percent Body Fat

Among them the components which

are directly involved in Body

composition are

(A) TandII (B) TandIII

(C) HMand IV (D) IMand IV
J-47-14
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35.

36.

Given below are two statements, one
labelled as Assertion (A) and the other
as the Reason (R).

Assertion (A) : An infant can run and
walk in better way than holding a
pen or pencil to write.

Reason (R) : An infant first gains
control over large muscle groups
than the fine ones

Which of the following statements is

correct ?

(A) Both (A) and (R) are true and (R)
is the correct explanation of (A).

(B) Both (A) and (R) are true but (R)
is not the correct answer of (A).

(C©) (A)istrue, but (R) is false.

(D) (A)is false but (R) is true.

Given below are two statements, one
of which is labelled as Assertion (A)
and the other is labelled as Reason (R) :
Assertion (A) : Sprains and
dislocations are the same injuries
occurring at joints & rupturing
the ligaments and tendons.
Reason (R) : Sprain is the injury
that damages the ligaments.
Which one of the following is correct ?
(A) Both (A) and (R) are true and (R)
is the correct explanation of (A).
(B) Both (A) and (R) are true but (R)
is not the correct explanation of
(A).
(C©) (A)istrue, but (R) is false.
(D) (A)is false but (R) is true.

Given below are two statements, one

labelled as Assertion (A) and the other

labelled as Reason (R).

Assertion (A) : For rotation around
horizontal axis, a diver assumes
tuck position.

Reason (R) : Radius of rotation has
direct relation with angular
velocity.

In the context of the above two statements,

which one of the following is correct ?

(A) Both (A) and (R) are true and (R)
is the correct explanation of (A).

(B) Both (A) and (R) are true but (R)
is not the correct answer of (A).

(C©) (A)istrue, but (R) is false.

(D) (A)is false but (R) is true.

Paper-I11

37.

38.

Given below are two statements, one

is labelled as Assertion (A) and the

other is labelled as Reason (R).

Assertion (A) : Social loafing
occurs when the identifiability
of individual performance is
lost in a team performance and
performance decreases due to
diffusion of responsibility.

Reason (R) : Players need to have
their individual performance
monitored and they need to be
made accountable for their
personal contribution to the
team performance.

In the context of the above two

statements, which one of the
following is correct ?
Codes :

(A) Both are true but (R) is not the
correct explanation of (A).

(B) Both are true and (R) is correct
explanation of (A).

(C©) (A)is true but (R) is false.

(D) (A)is false but (R) is true.

Given below are two statements, one

is labelled as Assertion (A) and the

other is labelled as Reason (R).

Assertion (A) : In Parry O’ Brien
technique of putting the shot
gliding from initial stance
position is the main phase of
the technique.

Reason (R) : Gliding increases
momentum of the body.

In the context of the above two

statements, which one of the
following is correct ?
Codes :

(A) Both (A) and (R) are true but
(R) is mnot the correct
explanation of (A).

(B) Both (A) and (R) are true and (R)
is the correct explanation of (A).

(C) (A)istrue but (R) is false.

(D) (A)is false but (R) is true.

J-47-14
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39.

40.

41.

Given below are two statements, one is
labelled as Assertion (A) and the other
is labelled as Reason (R).

Assertion (A) : Curriculum is the
learner’s engagements with
various aspects of the environment
which have been planned under
the direction of the school.

Reason (R) : Curriculum
simply plans for learning.

In the context of two statements, which

one of the following is correct ?

Codes :

offers

(A) Both (A) and (R) are true and (R)
is the correct explanation of (A).

(B) Both (A) and (R) are true, but (R) is
not the correct explanation of (A).

(C) (A)istrue but (R) is false.

(D) (A) is false but (R) is true.

Given below are two statements, one
labelled as Assertion (A) and the other
as Reason (R).

Assertion (A) : A physical education
professional must have sound
academic  and  professional
qualifications.

Reason (R) : Personal qualities
such as tactfulness, good human
relation, dynamic and
cooperation, creditable sports
performance etc, contribute to
become a successful professional
in physical education.

Which one of the following is true ?

Codes :

(A) Both (A) and (R) are true but (R) is
not the correct explanation of (A).

(B) (A)is true but (R) is false.

(C) Both (A) and (R) are true.

(D) Both (A) and (R) are false.

Given below are two statements, one
labelled as Assertion (A) and the other
as Reason (R).

Assertion (A) : Muscles are machines
that convert chemical energy into
mechanical work.

Reason (R) : Skeletal muscles are
called voluntary muscles.

In the context of the above two

statements, which one of the following

is correct ?

Codes :

(A) Both (A) and (R) are true and (R)
is the correct explanation of (A).

(B) Both (A) and (R) are true, but
(R) is not the correct explanation
of (A).
(C) (A)istrue but (R) is false.
(D) (A)is false and (R) is true.
Paper-I11
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42,

43.

44.

Given below are two statements, one
labelled as Assertion (A) and the
other as Reason (R).

Assertion (A) : Physical activity and
sports is intended to some
educational ends and to perform
the desired social functions.

Reason (R) : Physical education
and sports contributes to
produce champion

Which one of the following is correct ?

Codes :

(A) Both (A) and (R) are true but

(R) is mnot the correct

explanation of (A).

Both (A) and (R) are true and (R)

is the correct explanation of (A).

(C) (A)istrue but (R) is false.

(D) (A) is false but (R) is true.

Given below are two statements, one

labelled as Assertion (A) and the

other as Reason (R).

Assertion (A) : Lactic Acid is a by
product of Anaerobic Glycolysis.

Reason (R) : Lack of oxygen.

In the context of two statements, which

one of the following is correct ?

Codes :

(B)

(A) Both (A) and (R) are true and
(R) is the correct explanation of
(A).

(B) Both (A) and (R) are true, but
(R) is not the correct

explanation of (A).
(C©) (A)istrue but (R) is false.
(D) (A)is false but (R) is true.

Given below are two statements, one
labelled as Assertion (A) and the
other labelled as Reason (R).
Assertion (A) : In  Fartlek, the
sportsman changes the speed
on his own during the activity

according to terrain,
surrounding and his feelings.
Reason (R) : This method

requires more self discipline in order
to be effective. In Fartlek, the heart
rate fluctuates between 140-180
beats/ minutes.

Find the correct answer :

Codes :

(A) Both (A) and (R) are right, but
(R) is not the correct
explanation of (A).

Both (A) and (R) are right and (R)
is the correct explanation of (A).
(A) is right, but (R) is wrong.
(A) is wrong, but (R) is right.

J-47-14
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45.

46.

47.

Given below are two statements, one
labelled as Assertion (A) and the other
as Reason (R).

Assertion (A) : Recommendation of a
study should indicate only the
scope of future research and not
the scope of practical applications.

Reason (R) : Recommendation of a
study indicates the future use of
knowledge obtained from a study.

In the context of the above two

statements, which one of the following

is correct ?

Codes :

(A) Both (A) and (R) are true, but
(R) is not the correct explanation
of (A).

(B) Both (A) and (R) are true and (R) is
the correct explanation of (A).

(C©) (A)is false but (R) is true.

(D) (A)is true but (R) is false.

Given below are two statements, one
of which is labelled as Assertion (A)
and the other is labelled as Reason (R).
Assertion (A) : Bench press is an
example of isotonic exercise.
Reason (R) : In isotonic muscle
contraction the muscle tone remains
same.
In the context of the above two statements,
which one of the following is correct ?
Codes :

(A) Both (A) and (R) are true, but
(R) 1s not the correct explanation
of (A).

(B) Both (A) and (R) are true and (R)
is the correct explanation of (A).

(C©) (A)istrue but (R) is false.

(D) (A)is false but (R) is true.

Given below are two statements, one
labelled as Assertion (A) and the other
labelled as Reason (R).

Assertion (A) : In  closed ended
questions participants formulate
their own response.

Reason (R) : Closed ended questions
provide limited options to the
participants.

In the context of two statements, which

one of the following is correct ?

Codes :

(A) Both (A) and (R) are true and (R)
is the correct explanation of (A).

(B) Both (A) and (R) are true, but
(R) is not the correct explanation
of (A).

(C©) (A)istrue but (R) is false.

(D) (A)is false but (R) is true.

Paper-I11
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48.

49.

Given below are two statements, one
labelled as Assertion (A) and the
other as Reason (R).

Assertion (A) : Inspite  of  high
values of  validity and
reliability coefficient the use of
sport skill tests are minimally

made by the selectors or
trainers.
Reason (R) : Sports skill tests are

time consuming, involve
additional man power, lack
sufficient research work and
complex in application.
In the context of the
statements, which one of
following is true ?
Codes :
(A) Both (A) and (R) are true and
(R) is mnot the correct
explanation of (A).
Both (A) and (R) are true and
(R) is the correct explanation of
(A).
(A) is true but (R) is false.
(A) is false but (R) is true.

above
the

(B)

©
D)

Given below are two statements, one
of which is labelled as Assertion (A)
and the other is labelled as Reason (R).
Assertion (A) : As the sports has
evolved into a complex
multibillion-dollar global
entity, law has played a more
dominant role in carrying out
management functions in sports

organizations.

Reason (R) : When sports
managers make decisions,
disagreements  arise, those

working and participating in
sports are relying move heavily
on the legal system for a
resolution.
Codes :
(A) Both (A) and (R) are true, but
(R) is not correct explanation
of (A).
Both (A) and (R) are true and (R)
is a correct explanation of (A).
(A) 1s false, but (R) is true.
(A) is true, but (R) is false.

J-47-14

(B)

©
D)

Downloaded-From:-http://ugcnetportal.com



Downloaded-From:-http://ugcnetportal.com

45. T FA RUMCE | T B ATTHA

46.

47.

(A) T THY i HROT (R) el T & :
AR (A) : TENEA 3N & Ggamal
S helel Wi & HIET & &

3 1 STFIT 30T & |
w%ﬁ@iﬁaﬁ?ﬂTWﬂﬁ%?
(A) (A) 3R (R) TN E, TG (R), (A)
T Tl WL Tl ¢ |
(B) (A) 3R (R) W & 3 (R), (A)
T FEl T & |
(C) (A) T &, W] (R) TEI ¢ |
(D) (A) T §, W] (R) T ¢ |
=T wE R MU § uwm H
MIFIT (A) T TE H FRIT (R)
FEITAE |
AfVHUT (A) : 979 U9 IE STEHIeE

AT &l TR & |
HROT(R)  : GRS A

HIH H AT 2H Jal Tl § |
T FAT % el H ffafad §  wi
T T Tl & 2
S
(A) (A)W(R)ﬁ’—ﬁﬂﬁﬁm(R)
(A) T TEl TIEEIHIT T&l & |
(B) (A) @ (R) TT Wl § 3R (R),

(A) T T TR |
(C) (A) T W (R) T ¢ |
(D) (A) Td §, R (R) Tl ¢ |
T 57w KU T € | U T AT
(A) T & I SHROT (R) T T & |
e (A) : &% TR ot U9 B 9T

o 9 O U ©F Uides

FAE |
HROT(R) & [ a1t 997 o o

et =l HifHd forsheq 2a € |
T HHT o GeW | i | Uk Tl & 2

wE

(A) (A) 3R (R) W& & 3% (R), (A)
T Tel TR E |

(B) (A) 3R (R) Wl & T (R), (A)
T Tl TLIH0T el & |

(C) (A) T T, T (R) Tod & |

(D) (A) T &, W= (R) T&H & |

J-47-14

13

48. T T g fgw U € | TH A

49.

MIHT (A) 3T T H HRT (R) Fel

™Y |

AfHUA (A) : duaT UE  {avEEHEdr
IUHAUS o oo e gb‘euolwlq
TOAHAT AT U §RT
Wé@?ﬂmﬂﬁa@wﬁm%

HROT(R) T SN X AfH
T o4 o, AdRed "
e, U WY HEF B HA
3 FoaTe ¥ Sfeet e € |

ST 1 HU F G5 § FEteAtad §

Y I T TH Tl & 2

HE

(A)

T (A) T (R) & &, = (R),

(A) S TEl AT T E |

(B) =M (A) 3R (R) W& € &= (R),
(A) S T&l AT E |

(C) (A)WE T, W (R) T & |

(D) (A) T &, T (R) TN € |

I I gwed g MU E | uw H

SMIFHAT (A) T TEC I HRIT (R) FeT

e |

AP (A) : TE-SE Tl B TedH
AifafeaT Eer, Siied dfsaes
T T H FE 7, FEH A T
Al & ®E- wad H 3K
3k UWIERTell e T
TR o AT € |

FROT(R) 59 TA Uo¥H Hacd
ST AN Gell § R UE 9T o
® & 9% MwerR & fow s
Hisha 0T 31t e € |

(A) THI(A) 3R (R) el §, ] (R),

(A) ! HEl AT Tl & |

(B) M (A) 3R (R) Wel & @ (R),
(A) H T AT |

(©) (A) 7@ €, W (R) T T |
(D) (A) T e, W< (R) T ¢ |
Paper-I11

Downloaded-From:-http://ugcnetportal.com



Downloaded-From:-http://ugcnetportal.com

50.

S1.

52.

53.

Given below are two statements, one
labeled as Assertion (A) and the other
as Reason (R).

Assertion (A) : Human resources are
the wealth of an organisation
which can help in achieving its
goal.

Reason (R) : Personnel Management
is one of the important
responsibilities of a manager.

Which one of the following statements

is true ?

Codes :

(A) Both (A) and (R) are true, but (R) is
not the correct explanation of (A).

(B) Both (A) and (R) are true and (R)
is the correct explanation of (A).

(©) (A)is true but (R) is false.

(D) (A)is false but (R) is true.

Arrange the following in a sequential
order based on their chronological
organization :

L Modern Olympic Games

II.  Asian Games

III. Commonwealth Games

IV. Gladitorial Combat

Codes :

A Iv 1T I 1

B) I o o 1Iv

© Iv I 1 I

D) Iv 11 m I

Arrange the following management
skills as per their relative significance
from top, to lower level of management :
L Conceptual skills

II.  Human skills

III. Technical skills

IV. Assist the skills

Codes :

A I 1 1O 1v

@ 1o m 1v I

<O 1 o m

) 1Iv m 1 1

Arrange the following in a sequential
order based on the learning curve :
L Decreasing gains in learning
II.  Initial lag in learning

III. Increasing gains in learning
IV. Plateau in learning

Codes :

A 1 o o Iv

@ o m 1 1V

<O 1 m v 1

(D) mr 1v 1 I

Paper-I11
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54.

5S.

56.

57.

In the quest of performance
enhancement following types of
competition are played :
L Main competition

II.  Build-up competition

III.  Minor competition

IV. Major competition

Arrange the competitions in proper
ascending order :

A I Iv 11 I

B Iv 1 I 11

<© oI m v I

(D) o1 1 | Y

The symptoms of physical fatigue are
stated below. Arrange them in sequential
order from the codes given below :

L Local tiredness of active muscle
II.  Pain in muscle

III. Sweating in hand and feet

IV. Stiffness in joints

Codes :

A I 1 1m 1v

B) oI 1I I 1v

o 1 1m v 1

D) o m 1 1Iv

Competition is a process that
encompasses four distinct stages. Put
them in a order of sequence :

L Subjective competitive situation
II.  Objective competitive situation
III. Response

IV. Consequence

Codes :

(A) 10 I 11 1Iv

B mr I1v 1 I

<O IV 1 I I

@) 1 m 1v 1

Match List — I with List — II and
select the correct answer from the
codes given below :

List-1 List — 11
i.  Nature 1. Environment
ii.  Nurture 2. Heredity
iii. Principles of 3. Mental set up
exercise
iv. Principles of 4. Use and disuse
readyness
Codes :
i i i v
A 1 2 3 4
B) 2 1 4 3
< 2 3 1 4
(D) 4 3 2 1
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53.
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TEtyd W % IER Swdq §
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RO HITTA
II HET Shieret
[I. T B9
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e
A I 1 I IV
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© I o m 1v
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AR | SIAA A
II AT § R e
0 G 15yt = e e i )
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HE
A I I 1 1V
@) I m I 1V
© 1 ua v 1
M) I 1v 11 I
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56.

57.
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V.
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(A 1I I I 1v

B 1 1v 1II I

(© IV I 1 1

@ I m IV 1

G-I & G-Il & 91 GHfAd it
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A 1 2 3 4
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D 4 3 2 1

Paper-I11



Downloaded-From:-http://ugcnetportal.com

58. Match List — I with List — II and
select the correct answer from the
codes given below :
List -1 List - II

i. The Vedic 1. 1000 A.D. -
period 1757 A.D.

ii. Early Hindu 2. 2500 B.C. -
period 600 B.C.

iii. Late Hindu 3. 600 B.C.-320
period A.D.

iv. Medieval 4. 320A.D.-
period 1000 A.D.

Codes :

i i i iv

(A 2 3 4 1

B) 3 4 2 1

<©) 4 3 2 1

D) 1 2 3 4

59. Match List — I with List — IT and find
out the correct option from the codes
given below :

List -1 List - II
(Nature of (Resultant
Manipulation of activity)
force)
i. Continuous 1. Giving
application of
force
1. Momentary 2. Throwing
application of
force
i11. Application of 3. Pushing
force for sometime
and then release
iv. Receiving force 4. Kicking
Codes :
i i i iv
(A) 3 4 2 1
B 4 2 1 3
<o 2 1 3 4
D) 1 3 4 2
Paper-I11
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60.

61.

Which one of the following pairs is
correctly matched ?

(A) Leadership —  Wood, Birck
Scale for Sport & Veroff

(B) Test of state — — Martens
Trait Anxiety

(C) Profile of — McNair,
Mood states Lorr &

Droppleman

(D) Test of — Carron,
Attentional and Brawley,
Interpersonal Widneyer
style

Match List — I with List — II and
select the correct answer from the
codes given below :

List -1 List - II

i. Pre-schooland 1. Life time
Kindergarten sports
level activities

ii. Primary or 2. Development
elementary and
school level maintenance
(Grade 1-5) of physical

fitness with
wide variety
of activities

iii. Middle school 3. Gross motor

level (grade 6-8) pattern
through free
play
iv. Secondary and 4. Development
senior of perceptual
secondary motor
school level qualities
(grade 9-12)
Codes :
i i i iv
A 1 2 3 4
B) 3 4 2 1
<o 2 3 1 4
(D) 4 3 2 1
J-47-14
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58. G-I ot G-I & |19 GRS

qT =g f§T T e T Wel S A
T -1 =t - 10
i. dfsw Fe 1. 91000 —
T 1757
ii. omMEg®HT 2. €9 2500 -
£, 600
iii. SREg®HEA 3. Y 600 —
T 320
iv. AR 4. TI320 -
T 1000
HE
1 no i iv
A 2 3 4 1
B) 3 4 2 1
© 4 3 2 1
™ 1 2 3 4
59. g1 @t gA-Il ¥ gl SIS qer
T 3T 7T e ¥ Tl Toehed T
TR -1 = - 11
(ST § 3T (afoTrt
PEan) FHEEHATT)
i, ©EREA 1. &
ST
ii. efrdaer 2. e
ST
iii. ¥ 99T 9% 3. ghoHT
IA AT
3R 3qF a8
BT &
iv. I U HAT 4. Tohw ARAT
FE
i i v
A 3 4 2 1
B 4 2 1 3
© 2 1 3 4
™ 1 3 4 2
J-47-14
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60. FfafEd o & SF 91 g7 gafed € 2

61.

(A) DT THFA — T, I A
TR T %
(B) W IA®WI - HH
o2 tTrget
(C) WHEA fF — HHARR, ar
e wRH AT ST
(D) == AH — KA, s,
IIEA W foeaR
TTHTA
RG]
G-I ot g1 & q1e GAfed i
qT = f§T T s T Wel ST A
TR -1 = - 11
I Wpaan 1. 37sied g@a
frerme =X TiatareT
I v erper 2. fafay R &6
SRTH TiatateEt &
former T Y IR
FE 1-5) &I
o qen
T
Il me foeme™ 3. qoa siel 3R
T (TS 6-8) T HieX U
IV. Ty aar 4. I8l [EeHS
IR T O
AT forepr
foramer @
@S 9-12)
e
I O I v
A 1 2 3 4
B 3 4 2 1
© 2 3 1 4
D 4 3 2 1
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62.

63.

64.

Match List — I with List — II and
select the correct option from the
codes given below :

List -1 List - 11
(Vitamin (Diseases)
Deficiency)
1. Vitamin-D 1. Nightblindness
ii. Vitamin-A 2. Rickets
iii. Vitamin-B, 3. Anaemia
iv. Vitamin-B,, 4. Scabies
Codes :
i i i v
A 1 2 3 4
B) 2 1 4 3
<C 4 3 2 1
D) 3 4 1 2

Match List — I with List — IT and find
correct option using codes given below :

List -1 List - IT
1. Competition 1. Creation of
period strong base
1. Perioditation 2. Rest and
Recovery
iii. Transitional 3. High
period performance

training stage

iv. Preparatory 4. Top form and

period its maintenance
Codes :
i i i v
A 1 2 3 4
B 2 3 4 1
< 3 4 2 1
) 4 3 2 1

Which one of the following pairs is
correctly matched ?

(A) Hypothesis that — Research,
predicts no hypothesis
significant
difference

(B) Hypothesis that — Alternate
predicts existence  hypothesis
of significant
difference

(C) Hypothesis that — Null
predicts the hypothesis
direction of
difference

(D) Hypothesis that — Directional
does not predict hypothesis

the direction of
difference

Paper-I11
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65.

66.

Match List — I with List — II selecting
the correct answer from the code
given below :

List -1 List - II
1. Planning 1. Extensive
Orientation
il. Organising 2. Goal
Accomplishment
iii. Staffing 3. Delegating
Authority
iv. Controlling 4. Gathering
Information
Codes :
i i i iv
(A) 2 3 4 1
B) 1 2 3 4
< 4 3 1 2
D) 3 1 2 3

Match List — I with List — IT and find
the correct option with the help of
codes given below :

List-1 List — 11
1. Pre- 1. Correction of
competition errors
Meso-cycle
ii. Basic meso- 2. Used between
cycle multiple
competitions

iii. Perfection 3. Development of

Meso-cycle selected motor
abilities
iv. Intermediate 4. Direct
meso-cycle preparation for
competition
Codes :
i i i iv
(A) 2 1 4 3
B) 4 3 1 2
< 3 1 2 4
D) 1 4 3 2

J-47-14
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62. Al H FA-Il & T GAfAT DT

qT = 5T T e T Wl S A ¢
Tt - 1 T - 11

(faert= =t ) @

. fof@D 1. o

. fae@f=A 2. g@RM

Il featfB, 3. W

(TFTETOTAT)

Iv. fea B, 4. gl

HT:

I I 10 Iv

A 1 2 3 4

B 2 1 4 3

C© 4 3 2 1

D 3 4 1 2

63. TEI-I H G-I & | gaferd ST
qr A= T wie w1 IUET T Gel
foeT T -

T -1 -1I

[ SUREH 1. TR SR
PlERES fHior

1. dRIEEEsyE 2. mﬁ

L. i 3. 3= US¥H
s TITSTeTOT ST

V. fooRedt 4. IFE  UREH
PlECES T W T

TG

BT
I I I Iv

A 1 2 3 4

B) 2 3 4 1

@ 3 4 2 1

D 4 3 2 1

64. Tr=TeAfEa & @ o 9 Sier @8 & 2

(A) ORI ST —  EINE
H1efeh 3T ReheTT
1 Sar &

(B) URSOAT ST  —  Shcdh
1R 3T T
T &t

(C) INeTT S — I UReheuT
T % FA
:irfwraﬁra%

(D) aEReT St - fewmeRiE
Al % 3T ReheTHT
H fww oA
T &t

J-47-14
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65. -1 1 AT GE-11 § e, A g

TU e & AT | TEl S AAIT

e -1 =t - 10
I TS 1. s iRe=eH
II. 9 2. &g umd

M. ==& 3. 319K &R
IV. M= 4. o TR
E T

I I I IV

A 2 3 4 1
@ 1 2 3 4
© 4 3 1 2
™ 3 1 2 3

66. G-I I G-Il & T GHfeTd HioTT

qor A9 5T MU HE W GEEar 9 we
Wﬂﬁq:
T -1 = - 11
I vfgfragd 1. Jfed ot 35
oGl T5h HET
I oTURd 834 2. 3%
T gfaafieret &
e 39T
o ST &
. g=Sardd 3. =39Hd ids
EED JIIATST
eI
IV. Aeed #a 4. Uaaiir &
SED forT et dar
BT
I I 10 IV
A 2 1 4 3
B 4 3 1 2
C© 3 1 2 4
™ 1 4 3 2
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Match List — I with List — II and
select the correct option from the

67. Match List — I with List — II and 69.

select the correct option from the
codes given below :

codes given below :

List - T List - 11 List -1 List -1
) ) ) (Type of Activity) (Example)
1. Malaria 1. Parasites . C .
1. Giving impetus to 1. Hanging
ii. Dengue 2. Pancreas external object
iii. Measles 3. Bacteria ii. Receiving 2. Landing
impetus fi
iv. Diabetes 4. Virus fmpetus from
external object
Codes : iii. Receiving 3. Kicking
i i il v impetus of one’s
own body
@ 1 3 4 2 . o .
iv. Maintaining 4. Catching
@ 3 4 2 1 balance in
) 2 1 4 3 suspension
®) 4 2 3 1 Codes :
i i il iv
) ) ) A 1 3 4 2
68. Match List — I with List — II and B) 2 | 3 4
select the correct option using the
. <© 4 2 1 3
codes given below
D) 3 4 2 1
List -1 List - II
i. Fiedler’s 1. Emotions 70. Match List — I with List — II and
contingency select the correct answer from the
theory code given below :
ii. Behavioural 2. Play List -1 List - 11
theories 1.  Glucose 1. Mus‘cle.of
o ) Inspiration
1. Reversal 3. Leadership ii. Haemoglobin 2. Cardiac
theories .
iii. Diaphragm 3. Blood sugar
iv. Psychoanalytic 4. Personality iv. Heart 4. Red Blood
theories Corpuscle
Codes : (R.B.C)
. i Codes :
i i i v
1 i i iv
A 3 4 1 2 A 3 4 | )
® 2 1 3 4 B 4 3 2 1
o 4 3 2 1 © 1 2 3 4
@ 1 2 4 3 @ 2 1 4 3
Paper-111 20 J-47-14
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67. TAI H FA-I & T GAfAT DT 69. I & G-Il & T GHfoTd HiTT
T At U T e ¥ el W g T e T T Hie ¥ Wel W G ¢
-1 T -1 agﬁ-la; = - 11
(Bramema (3aTE)
[ HoRar 1. WRIERe (W) U&HR)
I g 2. ke () L ?%?ﬂﬁ 1. e
Il =@ 3. S (S I JTEeRgd 2. SHE TSR
A
IV. TyRE 4. e () et
M. @d 3 3. fess e
S W d A
I I I IV o
IV. &1 § @ehd 4. &g Bl
A 1 3 4 2 W A
AT TG
B) 3 4 2 1
®) S
© 2 1 4 3 I I m IV
® 4 2 3 1 A 1 3 4 2
B 2 1 3 4
68. G-I & G-Il & T GHferd BT © 4 2 1 3
T At ST T e ¥ el W g ® 3 4 2 1
gt -1 gt - II
B ® 70. G-I & G-I & 91 Gaferd Hie
[ WIS & 1. gam qe e 5T 70 e ¥ el SR AT
TR TR 5T i - 1 = - 11
II. FFERER! fagid 2. e I 7ot 1. vorge ust
Il fowy s 3. Aqa L e 2. e
[l SEmFE 3. Joeed
IV. FAGRCEEE 4. T V. & 4 T
Rt IS
HE (3T
I I m IV wIE
I I m IV
A 3 4 1 2
A 3 4 1 2
® 2 1 3 4 B) 4 3 2 1
< 4 3 2 1 © 1 2 3 4
® 1 2 4 3 @ 2 1 4 3
J-47-14 21 Paper-111

Downloaded-From:-http://ugcnetportal.com



Downloaded-From:-http://ugcnetportal.com

Read the passage and answer the questions :

The world of sports has certainly seen its
share of scandals of late. Sports
organisations were hit with drug-related
scandals, doping controversies, sexual
assault charges and racial insults.
Whenever events like this occur, sports
managers need to respond in an ethical
manner to deal with the situations that are
complex and demanding.

Some ethical dilemma are about choosing
right and wrong, two opposing choices.
When the issue is about doing what is
right, we are dealing with a moral issue.
People tend to use the terms morals and
ethics interchangeably; however morals are
the fundamental baseline values dictating
appropriate behaviour within the society.
Ethics is the systematic study of the values
guiding our decision making. The process
of making a correct and fair decision is
called ethical reasoning. Ethical reasoning
depends on our values and in our
expectations how people should behave
and how we want our world to operate.
Ethical decision making is not a random
process in which the sports manager just
reacts from his “gut” feeling. Ethical
analysis involves a systematic process of
reasoning. It is similar to regular decision-
making process.

You need to know there are consequences
for immoral behaviour. Some people will
be motivated solely by self-interest.
However if people understand that
corruption comes with certain risks, they
are less likely to engage in immoral acts.
People need to understand they will loose
their jobs, customers, or eligibility, if
caught violating rules. By making the
consequences of immoral acts clear,
organisations help promote ethical actions.

72. Complex and demanding situations
that need to be dealt in ethical
manner is
(A) Moral issue
(B) Ethical dilemma
(C) Doping controversy
(D) Ethical decision

73. Choosing between right or wrong,
two opposing choices refer to :
L Ethical reasoning
II.  Moral issue
III.  Ethical decision
IV. Ethical dilemma
Find the correct combination :
(A) T&II (B) &I
©) I1&IV (D) &IV

74. What will people loose for their
immoral behaviour ?
L Eligibility
II.  Self-interest

III. Jobs

IV. Ethics

Find the correct combination :

(A T&II B) M&IV
©C T1&II DO nI&lV

75. Given below are two statements, one
labelled as Assertion (A) and the
other Reason (R) :

Assertion (A) : Ethics is the
systematic study of the values
guiding our decision making.

Reason (R) : Ethics indicate
fundamental baseline values
dictating appropriate behaviour
within the society.

In the context of the above two

statements, which one of the

following is correct ?

(A) Both (A) and (R) are true but
(R) is mnot the correct
explanation of (A).

(B)

©
D)

Both (A) and (R) are true, but
(R) is the correct answer of (A).
(A) is false, but (R) is true.

(A) is true, but (R) is false.

71. Values dictating appropriate
behaviour within the society refer to
(A) Ethics (B) Morals
(C) Dilema (D) Scandal
Paper-I11
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T ST MU T ® ufgw qer ueAl & I
it

T S ¥ ff 9 999 ¥ e Fe
(Theew) WA T € | HEE se 9SS
Theetl, ST & foamy, dE-3Tehi-a & TR0
qAT STRSF SATAH & Tl TSl i el
A AT | UH FeATE Yo "edt © At fedfd St
ﬁ?@ﬁﬁﬁﬁﬁ%ﬁ@ﬁuﬁ%%ﬁ@ﬂ
TR FRT STARENE  (Teher)  Afd
STTSHAT XA i STTITIHT € |

FT AR gfaerei o1 Hay el
3T TTerd, 37 &7 foRrer feebedt & S =9I
%ﬁ@%magaa%ﬁ%ﬁa?ﬂ%”rﬁﬁw
T q IR WISR A (ARl T8 9 ardr

EE) EE)
w.fed A § fpiRka fbw s et € 1 ey,
I T TE T foh TeaR § $% Tk o €
AT 3Tk At | 3k oIt 81 i T FrIaT
BN | A S AE THE O W STevEshdT ¢
g o 7w &1 SeoiE FRd gT Uhe S & of
STl ISR, 3Toh TTesh T 3eh! Il — 3 TS
DA ST T & | ST Fedl o AT bl T

72.

73.

74.

75.

TGS gRT RIS HET Hl S@er o7 |

HETTA i ST Fehell € |

71. TEN ¥ YT FEER A HRA el
oo Frefetiad & 9 ford e o € 2
(A) sTERIE  (B) e e
(C) giawn (D) Thea
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HEl 1 T < forielt fohedt § 9 U
& g FEftEed § 9 feg d@efia
FATE ?

[ TERITEE qehon

I Afde® g

Il STERemER HoE

IV. SRS g

(A) 1T (B) I @ III
(C) 17TV (D) 1@ IV

FH % FER & faw @

Fr=foafaa 9 & s @ 51 2

| 1P ) II. @fea
M. it IV. SR
(A) 1TaT1I (B) III 91 IV
(C) 19Tl (D) 1Id9T IV

I 3 T Ru MU oE | uw @

M (A) 31T TE Sl HROT (R) HeTl

™Y |

AfUFHHT (A) : AR gAR i
% Y H AFEIA HA ool godi
T GHIF T T |

HROT(R)  : AT 39 Hifesw
MY Hedl &l ST X & ST
O H R Ui ufshar o
ATEeE 3 € |

UG T gkl & Ge | fEfetad o

BT HSHE ?

(A) (A)W(R)ﬁaﬁ%m@
(A) T T&l TLEHIT Tal & |

(A) T (R) 3HT T&l € 3% (R),

(A) T TEl TR € |

(A) TeTd &, T (R) el & |

(A) T8 &, W] (R) o7l & |

(B)

©
D)
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